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- AT PINTD PR T 9D
Anything that is awaiting sprinkling, is as if it was already sprinkled

Overview

The X131 explained why it is considered a 7"X7 7w MY, even though the 07 was oW,
because n7 P11 P10 1WA 73; therefore, it is a 7R VIAW. Our NMdOIN reconciles
our X3 with a seemingly contradictory X n3.

nvoIN asks:
= NIYYIN 229 99N (0w 5,9 91 pn) 132 HINY ININ P92 NN

It is astounding! For in the 1123 nXY 10X 299, R''9 stated -
= 0292 DOVTP 1Y 010 PYNY 2395 DT HPNINN NYID

‘Our entire mwn is not like w''9, etc. see there until 25152 27, etc. (on X,XD) -
= NVINY NNY XY NN NIRY NVINY IINRT PYNIY 239D 75D 159NV 7510

Since we know that @''2 maintains that a ;72w 72w XY IR TR WM, so by -
- 2993 Y9NWN XY 070 P RYT D199 99T NON NINT NIRY NOINY ) DIVTP

aw7p as well, it is a 78 aPRw qwinw, for as long as the blood was not

sprinkled, the meat of the 277 is not permitted to be eaten —
- Y509 1PN NIPY 1Y 19°2UNT 912193 DIV ©IYAIND NN IOV INNN 393V

So why does the second one receive forty lashes and the second 1277 is »Ie2; the
meaning of this question is, we consider the slaughtering of the first animal (let’s

say the mother) as if he Killed her (but was not umw her), since 2°w7p nu>nw by definition is
a IR APRY 70T -

= 49390 YW Y 1YY "M
So, the v nw of the second animal (let’s say the son) is completely “w>, this

concludes the remarks of Xy 7. Now m0n continues with his question -
- D99 NPT NN TWA 29NYN NIT NI NMINI PRY NVINY 15D 25UN INNDNY

! The mwn (on X,1¥) concerning the prohibition of 112 NXY IMK, reads as follows; O7°IwN N2 21 PWRIT P2 DWTP
AD1D CIWAY MUVOY WD NWRAT ,0°192 DOWTP ;D°VAINT NN ADI10 3w '["7109 omlw ,0°192 '[’51?'( ;02N DX D°A910 071N 2°9109
51091 V2N NN,
2 This means that all 2°w7p N nw are to be considered a 7K1 7KW TV NW, since the meat cannot be eaten after the
v nw; only after the 71, so the 7w AW is XY A1R and 7YY AW K.
3 This is referring to the last case (in footnote # 1) 21091 @YX IR ADI0 *IWA , MW WD WX 0202 2°wTp. The word
1w refers to the second of the two, if the mother was vnw1 first, the 12 is the *1w, who is prohibited to be viw31 on the
same day as his mother was V1.
4 The prohibition of 112 NRY MK is as the 771N writes (in 173,25 [MAXR] X7p™) that 212 WARA X2 132 DRI MR AW W MW
7nX. Therefore, since by definition the 7 nw of the first animal (2°w7p NV NWw) was not a 7K1 TV NY, one can be VMY
the second animal, so why is there a mpon 21°n and why is the second j27p invalid?
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But why is the first 70w considered a MR9 AKRWw v w?! Granted that the

meat (of the first 127p) is not permitted, only after the blood was sprinkled -
— 937 DI PIND 1IN 3T DI NN NVINY NYYN NIN

Nevertheless, from the time of mwsnw, it is considered as if it was sprinkled (so

the first 127 was a K7 VW) since M7 P12 PINTD 721957 99, so what does Xy '
mean?! If we maintain (as the X723 maintains here) that *27 P12 P12 7w 9, the v nw of the
first animal is a 793X VAW (even if it is DWIP NVOAWY), since AT PITI PIT? AW 93!

MB0IN answers:
=937 PIIND PIND 1I¥N D3 DY 1YY NIYWIN 2297 O 13°29 W9

And the n''1 explains that X' does not agree with this concept that p191% 721977 9

ST PN -
= 19590 NNIN VMYN PINT (3,80 91 ONNT PHINNT RNP NIND N N0 NON

Rather he agrees with the p''n of the mwn» there, where it states, ‘one who is

vmw and it turns out to be a 1297w, the rule of 12 XY MK does not apply; similarly -
=932 NN IR DIV 2911 RDT 9019 PYNY 239 ARLN NI LMIVYN

One who is umw a cow for the mM7X 799, according to w''" he is exempt, for he

is not liable for transgressing 112 nXY MNIN -
= 913 91795 SM1aD YN DD 1Y DY SN NNNY PRY NVINYY

Since it is a 7MR" 7R UMY’ and v does not maintain 75> NMTe® TR
AT -

= MIYN NN HNRVN NI 2WMI EPUAIN NNMIV RNVN NI9T XINNN NYY 7999 X922 "DNM
And there the 8923 challenges this 71w% from that Xn»92 which states that a 7799
can become X»v like other food becoming X»w, and the X 1) answers, ‘The 71wn

of nxvr nap, which does not agree to 7217 92, is not a correct 7IwWR; that is the view
of the X3 there -
= N5YY 1999 NN 9929 ONNT PNINN NAFTINT 920 NYYVIN 19 Yan

However, R''% maintains on the contrary that the w» there is the main ruling
(and we do not assume that »7 1793 M79% 7MY 22), and the Xn»72 regarding the
72018 NXMW of a P12 should be deleted —

5> The 717X 719 DLW is not a 7R VAW, since the 779 is burnt, but not eaten.
® A 7% 79 can be redeemed even after the 70 nw, in which case it may be eaten. If we would maintain 72w 93
M7 "1793 MT9Y; it would be a 7781 nwnw; however, from that 71w it is apparent that we dot say 121 721977 23,
72,80 ow. See previous 7> KoM 71"7 'o1n (TIE footnote # 8).
§ "1 maintains that there is no 7721 nxmw if the food is X372 MMOX. However, by a 2178 779 since it can be redeemed,
we say "n7 1793 M7 T 73 and it is 1220 nRmW Papn (after it was vrwi). This contradicts the 7awn, which does not
maintain 121 727 93 (see footnote # 6).
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NN offers another answer:
= 9192 YAPNIY 1Y M7 71919 13999N RIT 1199 NOYWIN 29 920P7 9919 VI M

And additionally, one can say; that X''2 maintains, since we do not say that 7

ST P11 P1TH T, unless the blood was received in a cup -
- 219199 PHNIY XD MISNT (owra,» 9n BINDT NIP P92 YNYUNTI

As is indicated in the first P22 of 2’02 nNdon, that it is a mx» to hold back from

sprinkling the blood -
= 090 75 DaPNI XY PXTYY NVINYN 9193 750 WAIN BT Y Japny 1y

Until the entire life blood is received in a vessel; therefore, at the completion of

the mu nw, where the entire blood was not yet received in the vessel -
- 527 1979 199N NY

We do not say 7 21912, so therefore it is a 77 7R 70N —

A third solution:
= AVINY NYYA PITTD MHN IDANRT NIYWIN 229 920PT 91219 VI M

And furthermore, one can say that X'’ maintains that even if it is considered

sprinkled at the time of the 77w W, nevertheless -
= P91 N7 HNINN RIN TV 9NWN RI AMIND NVINWYWAT IO

Since the meat does not become permissible on account of the ;7wsnw exclusively,

but rather it is permitted because the blood is considered sprinkled, therefore -
= NN 9N PRY NVINYI 71979 NV NAVYT NIIT MNN ND

It is not similar to 3277 72w maw, and it is a 7MINT PRY WA —

In summation; MdoIN offers three opinions as to the view of XY ": 1) he disagrees with the
concept of 121 72w 93; 2) he agrees to it, but only after the 07 was received in the 013; 3) he agrees
to it, however it still remains a 7"X7 APXY VAW, since it is the potential 7p>77 which is 7 0, but
not the 7V NWw exclusively.

mooin explains why he prefers the last two answers which maintain that X"9 agrees that we do say
191 w11 95 (as opposed to the first answer which maintains that according to X"1 we do not say
21 AW 99):

= NOYYIN 229D 19D 7999 (0w 3,xp 97 mnm) DIFDINY MHNINN YWY 999V SNIN)
And it works out well (according to the last two answers), for in the beginning of

22017 Nmant P, the X1 challenges X' -

% 10,3 (ypn) Mwr12. This 7100 is used as a prototype of a X7 qw>nw. In this instance it was just the unw that made

the meat permissible to be eaten (without any involvement of sprinkling).
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- 595 15597 £1919 DINTY 1IYN 93 1OPYNRY 5395 1YY 159V 3TN

Since we have heard that 2''a maintains 327 21712 P11 721957 92, etc.
- 20nn49 NP2 12 AMINRT NOVNY 99V 79 YN PHYIYT NIND 1919

However (even though X"7 maintains that it is a X7 7KXW 707w, '3 nevertheless),
our X3 properly maintains that it is a 78 7uvsnw, and similarly the X723 in
the conclusion there in 711 also maintains that it is a 7% 70w —

N190IN comments:
= NOYYIN 749D 799139 2813 91 N3N 29X HONN 75999 9951 )

And just as the X n2 there challenges 71''9, the X713 could have challenged R''1 -
- NOPWIN 2399 YINY 281 91 NN 299 \INNIT 9950 59)

And just as the X7 answered for 77''9, it could have also answered according to
R''9 -
- PUNY 5299 1559309 YPI NYT XY

Since the reason X" does not establish the 1w like @''4
= P99 HNIHN 1YY 917 0YAIND NN KNP 1PN Y PynRY 2957 DIUN

Because according to @''9, the second one does not receive forty lashes (mpon)
because it is a P2° NNN7 —

mooIn offers an alternate approach: !¢
= 79109 ©O¥2INN NN 11D INNN 1Y) D) N 0N 192

10°'We see that the X3 is asking on X"1 and assuming that according to w"1 we do say 121 72w: 3. According to the

first answer of NM»oIN how can we understand this X3, since the first answer assumed that X" disagrees with the

concept of 121 7w 93. However, according to the last two answers, X"1 agrees that @' maintains 191 7217 %3 (under

certain circumstances).

' The question on X" was, why is there no 17218 nxmw for 1230n3w NN, since they could have been redeemed and

M7 N793 MR TN 93. See previous P> KoM 17 '0n (TIE footnote # 8).

12 x,%0 P9

13 The two last answers explained that even though "1 72971 93, nevertheless it is a 7R A1RY 70N,

14 R,%0 70, X117 27 stated that according to w"A there is no MO°X of 132 NXY MR by 2°W7p, since itis a AR q0NW

X7, The X3 challenged ®X111n7 27 from a Xn°*12 which states that there is an 719°X of 112 NXY MR by o°w7p (even)

according to w"1. X211 answered that X137 27 meant that there is no Mo 20 for 112 NRY MK by D°W7p, since it is a

90 NRINT; we are not sure whether the o7 will be P11 (so it is a 7"KR7 7VAWY), or not (so it is not a 7RI AV NY). See

previous 7p>1 X2m 71"7 ' (TIE footnote # 14).

15 This is referring to the last case of the mwn cited in footnote # 1, where it states that the second one (by 112 NX1 1K)

receives Mpon. X" states that this cannot go according to w", for it is a 7X1 APRY 7w nw. The 8723 could have asked

on X" from the Xn>12 (see footnote # 14), just as it asked on &111»77 27. The & 13 then could have answered the same

answer that the reason why the 71wn, which states 2°v27R;7 NX 3910 *1wi cannot go like w"7 because it is a P50 NXINI.

16 We have just concluded that the reason the 71wn cannot follow the view of w" is because regarding the second

7vnw, it is a o0 NXINTI (but not because the first 7Y MY was a IR APRY 700W). See footnote # 15.

17 %" stated (in 2,5 7°2117) that the 71wn (on X,7¥) which states, 21091 2°¥27R77 DX 3010 W1, MWD W2 PWRIT ,07102 WP

cannot go according to w"9; we cite the X3 there: 70N "RW R? 71K APRY T0AW MKRT NYAY 2277 7 110V TN
4
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And the n''9is not o713 (in the words of X"9), ‘and why does the second one receive

lashes, and the 127 is 9102’; the n"1 is not o the word 051" -
= N AN NVINY NNYNRI NVINYYT YD) 935 Ny

For the second 121 was already Y021, since the first 7uonw is a 778" R -

= 19T 90NN Y DY HTVYINI OTH PINT VD
Since the blood was already sprinkled, so the second 1277 is a y»T 297, and
therefore is 7109; so, we cannot be 0713 the word, 1091 -

= ND 1M DIYAIND NN DD INNN 13209) NHN
Rather we are only ©913, ‘why should he receive lashes’, but no more (not the word
100Y') -

= 13NN PINT NIINY NVINYT P 2IYN 1)
And the inference of X"7 was from the second 1277, for since it is a 7IRWw mOITw

AN (for perhaps they will not sprinkle the blood) -
= DI XY NNIYT POD NNINN N 1N NN DIYIINN NN 1D INNIN)

So why should he receive mpv»; it is a poo nx 07, for perhaps they will not be

277 the o7 -
= YPNYD NMINM PNT 119D N KD 719199

And we cannot say that °n7 P12 P12 721977 93, since in this case there is no mx»,

to sprinkle the o7, since by the second 1277 it is 12 PRI NN -
= N P90 HNINN NHT ﬂ‘Pb’ INYNT NN 22NT NUIVI 79999

And the X3 there asks; ‘this (which X"9 teaches that the 71wn is not according to

w"9) is obvious that it is so, for how can he receive mp®», it is a ppe nx2n7 -
— NVINYN 93N KT RDIYD) DTN PINY NONT 91

And additionally, it is forbidden to sprinkle the blood, so obviously the rwsnw

will not be completed -
$NIINN 29D RIN 2791 7999 819 RY NIYWIN 229N 2ONNHWNY D10 DIWTP 2IuN)

$10D1 2°Y2IRT DR ADI0 ORNAK 1Y WA NWn R 07 o7 K77 7297 X% IR ADRY 70N 0 ow7p nvnw. The n"7 deletes
the word 7091, According to our X073 there are two reasons why the 71wn cannot go according to w"9, first why does
he receive mpon, and second why is the 2109 127p. Presumably both questions arise since the first 0 nw is not a " nw
X (since the o7 was not yet p113), therefore there is no 132 NXY 1NMX by the second 127p, and it is a 7w> 127p. However
now that we are saying that X" only meant that there should be no np%» for 2"X by 2°w7p, since it is a P50 XN (see
footnote # 16), but there is an MO°R, so why is there a question on the 7105 of the second 127p; it is 2105 because of 2"X.
The n"7 addresses this issue.
13 When X" stated X7 7Y APRY 700W O3 QWP NUINW "1 WA b ynw 7101 (see footnote # 17), he was not
referring to the first 1277 (which in fact is a 71X qU°NW since 077 P13, etc.) but rather to the second 1277, when at the
time of the iXN77 we are unsure whether the a7 will be 7713, therefore it can be considered a "X AI'RW VW,
191t is not only a ‘maybe’ they will not sprinkle the blood, but rather it is assumed that they will not sprinkle the blood,
since the 12p is 2109 on account of 2™, so it is M0OX to sprinkle the o7.
20 Now that we are saying that X" never claimed that according to w"A it is a 787 71°XW 70NW, but rather that there
should be no npon for 2" X on account of 750 NXN7, the question on 71" does not apply to X"1. See footnote # 16.
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And the X 13 there answered, ‘@w7p, etc.’;?! so now the X723 could not have
asked anything on X''s, only on 7''1.

Summary
We can either assume that X'y2X 27 disagrees with the concept of 72w 93, or he

(partially) agrees and nevertheless it is a X7 71°XY 7w nw. Alternately X"1 was only
referring to the second nw W that it is a P90 NXIN:I, so there should be no MpP9».

Thinking it over

According to '0n first answer X°VIX 27 does not subscribe to the concept of 72191 %
121 according to w"9. How can X"7 explain this 71wn that 1n1°nX2 20w 2°w7P he is
liable for M 7. Seemingly it is a 7"X7 AIRY 7V NW, since the 07 was not 771, and we
do not maintain 121 P> TAWR 90?712

2l We cite the answer there; ORW °21 W2 AW X2 0T PPN N1 R KT X7 IR 0N WP NWRY RIHK TNVT XPOO
5"ap RO TMIRD TUINWY WA NN,
22 See X"y1 " and mwn non.
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